AR, %ﬁ*%*ﬁ%&UZA‘J7®‘°*W (M am B A1)

<FE5E F R (PEBT) FsfEIC 11D, — &> TRVEd, (il El &UA/\/ﬁ@ni i [EeA @1 LTS E E T, THERE TSV, )
(—FBARMERD . FIZNAITRD 23 &péf/%/m\% CSWET FEIIA NIRRTV, BERDHTS G AR FETT, )

Reic ﬁﬂﬁnﬁ?fgﬁlb 5/’?”:!-‘1‘-’5’/3//:_, .
T381-0038

[201 29 8H] #E— REEHE 2012 £ 7 A 23 H A
TEL:026-256-9677 FAX : 026-256-9688
X EEISET, RS DN DDA . TR A— /LI, info@tke—g.jp FTIHAR 2SN, [20124F 8H] <~<—v 1> SRS A 5
%A A ) e | s o RUOFER(/ ) |Feks B 7 5w I1—PEREMMAX) |8 (MAX) " . .
o A vrr || B wne | s | 2| s o | ouw] mE [ |ty | R O ORRIRERERL T
7/29 | # B3E |CRRAVE FPS |?’§{kﬁ | 6FiH| 3&3&5 199 28 70.0% | 3.7 222 o [(~V]  <HEZE> T 222R=2. 5% RHH) - T 526R=27. 5% {RAk)
()1-2%&) (4/6/9/11/20/50[8]) | &10&15&15 & T8 26| 0 <TEZE> F6R=26.0%CHK1 1[H]=4.5% ¥k [0132=21.5%)
(&%) T, A7 4y n—3LiE=15E Bk 6 | 662 <HEZE> A 15R=14.0%
4 6 | 746 GE > F6R=30.0%(H4=3.0% 6=3.0% 9=10.0% 11=14.0%)
@ FFE = [T B A1AR ) 15 | 1,865 [ F2—)<HeZE> T 222R=16.0%CH K Yk [a]) - 56R=34.0%
O [ IR | =[BRS & [R5k 81141~ @IRET) =50 @I8fHAEY— | @ AHIEHL) <HeZE>4715R=20.0%
@ /YD fifE=R=1/32T(~YDH) GEH A B6R=30.0%(F4520[A1=16.0% 50[H1=14.0%)
CR RAVE FPW WHRA | 6FE%H| 3&3&5 99 28 70.0% | 3.9 22| o [(~V]  <HfEZE> T 222R=3.0%(GERAK) - T 226R=32.0%ERAK)
(4/6/9/11/20/50/0]) | &10&10&10 (B5E) 7226 | 0 <HEZE> T 6R=26.0%(F "1 1[E]=2.0% YK [A132=24.0%)
¥R, AT 8y h—3EiE=1018E £k 8 | T6| 422 <HeZE>4715R=9.0%
6| 422 @ F6R=30.0%(IH#4=6.0% 6=6.0%* 9=6.0%+ 11=12.0%)
@FFE =L B4R 45 151,055 [EF2—]<FEZE> F222R=16.5%(F & YR [A]) - #76R=38.5%
O [BIRTEZE | =T RAkE & LRI 8114 (4~ @IRZEH) | =51 @ISEATY—| @I AEINENL) <HEZE>4i15R=15.0%
@ /YD = =1/327(~Y D) GEH > AT6R=30.0%(FEAI20[A1=29.0% - 50[H]1=1.0%)
=EWE |CRAKVEMEE2 SAA STE | 3fXE[ 3&3&10&13 [ 99.90 | 9.99 | 100.0% | 2.484 4 431 <> <EZE>4R=36.0%(} K 25E1=31.0% - 50[H]=5.0%)
(&%) (25/50/10017]) (ST=5) | 59.7% | 9 6 646 | 5.64 | 607 <HfEZE>B6R=60.0%( K" 50[A])
@ BRIEE =72 @IREF)=72L @I8EAT)—| @I ANHIEHL] 15 | 1,615 <HEZE> 15R=4.0%(%&"1001=])
@/ 4Y =L
YI— |CRTUNFRTHEBYVA2 C | 7 40[0]| 3&3&10 115.0 | 20.4 | 50.0% | 2.836 5| 307 [~] <#EeZ> E5R=15.0% T325R=30.0% T 16R=5.0%
&10&10 7 | FE 5 307 | 9.47 [ 581 G > _E5R=25.0%(FF40[H]) « T ZE25R=25.0%(HE40[A])
@ FFE = [T B A1AR ) T, E74yn—3LE=10E T 16| 981 [EBF2—)<HEZE> 15R=15.0%¢ T 16R=35.0%
@ BRIEL 1= @IREH =5 @I8fHAE)—] @4 %z~{ﬁﬁ'ﬁvw{tj Gl FBR=25.0%(RE40[R]) - T 16R=25.0%(FF40[H])
@ /1Y R =7pL | | | | | |




X ARSI, BRVERDH LG . THREA— /LI, info@tke—g.jp FTITEAGIZSVN, [20124F 8H] <~—v 2>
| ) wyE | mas [ PN L2 == VAN [ S U T4y I —HEREMAX) (B -5 (MAX) » v .
a7 gl w7 |wom| B wacns | wmens | zoas| meei] mob [oosr| mE | o] Tay WA, O OMRIREERL T
58 | X—#% |CREVR G~ B IR~ BRA| ol 3&1&3 399.8 | 46.13 | 80.0% | 5.000 Z2 16| 0 [~V] <FEZE>2216R=30.0%(F KR BISZ)
BL—XI &10&14 9 4 | 461 <HEZE>4R=16.0%GE ERAkAE=2. 0% - K YK [F132=14.0%)
@R H =4 T bkR) KEFa—HEk=1A F 8| 923 <HEZE>SE8R=34.0% <3 >4R=20.0%(FF4E0E])
@ 1B IR | =[R2 A~ @TRZED) =50 @I8fHATY—] @IET —MeiHlk) 16 | 1,845 [EF2— ] <HEZ>4R=16.0%(EHE=1.0% YR [E1YZ=15.0%) - 16R=64.0%
@ /YD fifg=R =721 GEE > 4R=20.0%(FF4E0H])
CREFARARTA~ I~ BIRAE|  oml| 3&1&3 259.9 | 46.78 | 74.0% | 3.846 722 16( 0 [~V] <FEZE>2216R=31.0%( K KRBISZ)
BL—XT &10&14 9 4 461 <HEZE>4R=19. 0% R =3.0% - ¥ K WK [F132=16.0%)
@R H =T bkR) KEFa—HEK=1A F 8| 923 HEZE > FE8R=24.0% < >4R=26.0%(HF4H0[E])
@ NERIEE | =B RMkEE] 217 @TREH) =50 @ISEAE)— | @IETF=—HEIEiH{t) 16 | 1,845 [T 2~ ] <HEZE>4R=19.0%(EE=1.0% YR [E]3Z=18.0%) - 16R=55.0%
@ /40 =Tl <@ >AR=26.0%(IRFAE0[A])
% S |CRHECKESAF & FPR WRA |300r70| 3&2&10 387.8 | 38.78 | 75.0% | 4.729 2221 0 [~V] <HEZE> T 2€2R=9.0%R[EIE) - T ZETR=15.0%H =)
&14&14 227 0 <HEZE> T 32TR=6.0%+ T 7R+_LJUB3R=10.0%
HEF 2 —HEK =21 T 7| 807 <S> FTR+ EJUB6R=10.0% F7R+_FJUB9R=25.0%
T, A7 4y n—3Lim=14FE Bk 9 |F37 807 |10.29( 1,187 GEH> T F2TR=25.0%(F430[E=10.0% - 70[H]=15.0%)
7+ 31,153 [FEF2—<FEZE> F222R=9.0% A YK [A]) - F7R=7.5%
@ FFE = [T B A1AR ) 7+J 6| 1,499 <HEZE> F527TR=1.5% F7R+_LJUB3R=8.0%
@ [ IR | = (W] A7 @IRET | =H0 @I8HAT)—) @IET =—EHL) 7+] 91,845 <HifeZ5> T 7R+ 2 JUB6R=8.0% T 7R+ _-JUBIR=41.0%
@ /)40 | =1/202.27 (YD) GEHD T TR=7.5%(FF70[H]) « T F27R=17.5%(BF70[H])
CREEKERFF 2 FPL WHRA [300r70| 3&2&10 278.9 | 27.95 | 70.0% | 4.156 Z€2| 0 [~V] <HeZs> T 222R=9.0%(FEIE) - T227R=26.0%FE1E)
&14&14 %71 0 <HEZE> T TR=8.0%¢ T 527R=10.0%
MEF 2 —HEK =21 T 7| 807 <EZE> FTR+ EJUB3R=2.5%¢ 7R+ _FJUB6R=2.5%
KT, A7 4y n—3Lim=140E Bk 9 |F37l 807 | 8.74 [ 1,008 <HEZE> FTR+ LJUB9R=12.0%
7+) 3| 1,153 Gl T TR=10.0%(REEE30[]=5.0% - 70[A]=5.0%)
7+] 6 (1,499 GEH> T F2TR=20.0%(F430[E=10.0% - 70[E]=10.0%)
7+J 91,845 [FEF2—]<FEZE> F222R=9.0% A Y E]) - F7R=20.0%
@ FFE =T H A4k <HEZE> F327R=1.0%¢ F7R+_LJUB3R=3.5%
@ [ IR | = (W] A7 @IRET | =H0 @I8HAT)—) @IET =—EHL) <HEZE> FTR+ EJUB6R=3.5% F 7R+ -JUB9R=33.0%
@ /40 e =1/199 (Y DH) GEE > T TR=24.0%(FE70[E]) « T 227R=6.0%(FF70[0])
443- CRIALF> LRX ST [400r100| 3&3&10&15| 258.0 | 67.6 | 100.0% | 2.62 4 | 497 [~V] <HeZE>4R=30.0%( 4 40[])
Ibyy (ST=70)| = #1#) F 4| 497 <HEZE>F2AR=30.0%CFK"40[71=29.0%+ 100[H=1.0%)
@ =T HARE) 9 | Fe6| 746 <EZE>326R=20.0%(F4°40[A]=19.0% - 100[A]=1.0%)
@ B KL | =[0I b)]% (4~ @IREZW | =50 @I8HAT)—| @IEF=—EIEiH{k] F 8| 995 <7 > 3E8R=10.0%( " 100[E]) « 16R=10.0%(# % 100[H])
@ /)4y =721 16 | 1,989 [ F=2— ) <FEZE>4R=30.0%CK"100[E]) - 16R=70.0%(H 7 100[a])
CRIALVF> LRT ST& |400r100| 3&2&10&15]| 258.0 | 67.6 | 100.0% | 2.62 4 | 497 [~V] <HEZE>4R=30.0%(H"40[H])
KEF 2—HER=20 (ST=70)[ (Z#11) F 4| 497 <2 >924R=30.0%C K"40[F]=29.0% - 100[A]=1.0%)
O = THTH AR | 9 | #£6 | 146 <2 > FE6R=20.0%(H K 40[11=19.0% - 100[F=1.0%)
@ 1B RIEE | =M% 1~ @IREH) | =Hy @I8HAT)—| @IEF=—E/EH{L) F 8| 995 <HfEZE > 5E8R=10.0%(4 " 100[H]) « 16R=10.0%(3 K 100[=])
@ /140 R =L | | | | | | | 16 1,989 (72— | HEZE>4R=30.0%(3 5 100[E]) - 16R=70,0%(3K 100[])




XA RRVERH LGS THRFA /T, info@tke—g.jp FTIEAELIZEN, [20124F 8H] <~=—¥ 3>
#5¢H ) e | s [ REOFERA/ ) |k FE T4 —PEREMAX) 325 45 (MAX) " L .
|7 it e (| R s | s | seas| e [osR] mE || Ty i S DS AR Sr B LS
58 |#VEIR&D|CRIHZY | ~AHvh SS | BREA S0[] 3&2&10&14|278.9 73.63 | 100.0% | 3.154 4 | 461 [~Y] <HeZE>9R=90.0%(HH°80[E])+ 16R=10.0%(34°80[H])
@R = T BALER ) STH KEF 2—HEK=2M (ST=84)| 68.3% | 9 9 |1,038)|11.13| 1,284 |[FEF2—]<MEZ>4R=35.0%(F5"80[]) - 16R=65.0%(}K80[E])
@ [ RMEL | =[TAMEERIZ AT @IREH) =5H) @I8HAE)—| @IETF — ik 16 | 1,845
@/ 4y =721
CREHIED | w2 hvh AA | BREA S0[] 3&2&10&14| 199.8 | 83.91 [ 100.0% | 2.738 0 4 | 461 0.6 | 1.068 [~V] <HEZE>4R=93.0%(HK°80[A]) - 16R=7.0%( 4 80[A])
@ E =L HAAE) STH KEF 2—HEK=2M (ST=84)| 63.5% 16 | 1845 [T 2~ ]<HEZE>4R=35.0%( K °80[R]) - 16R=65.0%(} K "80[H])
@ [ RIEL | =[TAMEERIZ AT @IREH) =5H) @ISHAE)—| @IETF 2— /il
@/ 4y =721
<8/19~> |CRBN7ZY | ~AH vk RR STE | 50r85 | 3&2&10&13| 99.9 | 9.99 | 100.0% 0 4 | 425 [~V] <HfeZE>4R=95.0%(F & 5[a]) » 16R=5.0%(F 4 5]a])
@FFE =L B4R HBF 2 —HEk=2M (ST=5) 16 | 1,701 [FEF 2] <HEZE>4R=90.0%(H K °85[R]) - 16R=10.0%(} K "85[H])
@B RMEAE =72 @IRET =Y @8fHAT)—] @IEF=— 1Bk
@ /140 R =7l |
B B |CRHEFHERTZ ey 4X | ST | 160/H 3&2&3&15| 399.6 | 129.7 | 50.0% | 3.4 0 15 |2,075 [~Y] <HeZ5>16R=50.0%(% 160[H)
(J1-28) Z15A |@&E#% | 1008 | XEF 2 —E K =21 (ST=160) (&) 16 |2,213 GEH > 15R=50.0%(Kf4E 100[H])
(f8%E) | @FFE=THFIHIER | MhAgE=T1.0% [ FEF2—)<FEZ>16R=100.0%CF K 160[E])
@ BIRTE =72l @IRET | =50 @I8ffAt)—] @I AHIEWH(L]
@ /140 R =72l | | | | |
128
198 | H3I— |CRR—F %77 A4— Wjﬁﬂ SHHHH 3&2&10&13| 319.7 | 39.0 | 75.0% | 4.503 Zz 16| 0 [~V] <HeZE>2216R=40.0%HEIHEER=39.0%- # K WK E1IZ=1.0%)
LiRUa—ay FENV [ (30/50/70[8]) | EF = —E 2k =2{# 10 8 947 | 9.78 | 1,157 <HeZE>8R=35.0%
@ FFE = H¥TH AR | | 16 11,893 G >8R=25.0%(130[8]1=16.0% - 50[=]=8.0%+ 70[a]1=1.0%)
@ [ RMEZ | =W R]Z A7 @IRET | =HY @I8HAT)—] @IET —EILHk) [EF2—]<MEZ>8R=35.0%" 16R=40.0%
@ /4D R =1/113(~Y D) | il >8R=25.0%(HF30[11=16.0% - 50[11=8.0%- 70[m1=1.0%)
1 |CREFEWEE 9AW BIRE 00rd0 3&3&10&12] 99.9 | 37.6 | 100.0%| 2.939 221 0 CHLE>  HRZE>Z22R=12. 5%TEHRA) SR A o 24 0 3K 40[A]
@~ I/ ATANSAT I STH (ST=40)| 66.0% | 7 6 | 472 | 6.75 | 531 <HeZE>6R=T2.5%(K"40[a]) - 16R=15.0%(}H°40[a])
@ [ IRMEA | =[G 12~ @IREH) =72l @I8fHAt)—] @I ABEIEW{L] 16 | 1,259
@ /41 sk = (~)1/332.7 « (FEF2—)1/1,008.2 | | |




XIS, BRVEDR LG TR A—/LIT, info@tke—g.jp FTITHEAETZEN, [20124F 8H] <~_—v 4>
#IER ; B | wi - REORER/ ) |HE  [HE | 72y —HEREMAX) |[FE T (MAX) . o .
) A—T1— P, ?jj f}%ﬁ B O o | s | k| s por [ JoR] E | ey | Tov &M %, OONITREREERL TOET,
198 | Z1—%'Y |CRIEDBEE R~ =N oorto | 383&9 199.8 | 68.2 | 100.0% T4 0 [(~V] <HeZS> T2E4R=15.0%(E kD) - L4R=30.0%(H 4 70/
()2-22) L—K(X) | ST &10&15&15 (ST=70) o |4 497 <HEZE> T FE4R=40.0%(H K T0[a])+ _E16R=15.0%(H 70[a])
KT, E75yn—Sim=16fAH B T 4| 503 [#EFa—] <HEZ> FAR=45.0%CHK 70/H])
@ BRI | = RAke )71~ @TREE) ) =50 @I8HAT)—] @IEF2—EIH{b) 161,989 <HfeZE> F16R=55.0%CHK"70[])
O /| 40 | e =1/218.45 (~V D7) | |
CRIEDBER ~ K BIRE 00070 5&3&8 199.8 | 68.2 | 100.0% T4 0 [~V] <H#EZE> T 524R=15.0%GEAk#S) - -4R=30.0%(4H+70[=])
L5—K(X) | ST &15&15 (ST=70) . 4| 497 <HEZE> T 324R=40.0%(F & 70[M])+_16R=15.0%("70[)
KT BTy n-dEm=15 TR F%4| 511 [EFa—] HEZE> F4R=45.0%(H K 70[7])
HAvHER=5E 116 1,989 CHEZE> 1 16R=55.05CHF 70
@ KA | =Rk ] 217 @TRAT) =Hh @ISFEAE)—] @IEF— BNk
@ /|0 | e =1/218.45 (~V D7) | |
CRIEDBER ~Hh WIRE p— 3&3&10 99.9 | 16.96 | 100.0% TZEel o CEEARD <HRZE> T 942R=15.0%Ek#5E) X 1A H VIR 100/R]
N—K(X) | ST+ &12&13 (ST=8) k324 345 CHfZE> 1 HEAR=12.0%CH 5 8IED) 34K 47 H 24 0 L4 8°100[H]
(0/8/100[R]) | 3% _k74yh—=12MBFHER, T 74y h—=13fBFHEK 8 | F6| 574 <HEZE> T 6R=50.0%(F A 8[EDXH A A 1 L D IEHK100[H]
| | | | 18| 691 <HEZE> F8R=3.0%(H8[E) ¥4 A i 24 0K 100[a]
O MRS = [ IRERE )27 @TRAE) =72l @T8fHATY—] @I AHIHEIHL] 1+ 15[1,295 2> 1 15R=20.0%(# 4 8[=1=16.0% - 100[=]=4.0%)
© b R U6 | | ST 413 100]
CRIEDBER ~ K WIRE p— 5&3&8 99.9 | 17.66 | 100.0% T2l o CEEARD <HRZE> T 942R=15. 0% k#E) X 1A H VIR 100[R]
N5—K(X) | ST &11&11 (ST=8) F32 4] 313 CHfeZE> 1 HEAR=12.0%CF 5 8[ED) 34K 47 H 24 0 1 L4 8"100[H]
(0/8/100[8]) |3% T, ET74yh—Itim=1 18 EEK 8 F6 | 490 <HifEZ5> T 6R=50.0%(H A 8[ED 44 H1 B DI H K100/
| Y HER =5 | 8| 627 CHEZS> F-8R=3.0%(HK SIED) K 47 H1 24 0 |35 100 ]
@ [IFIRIEE | =[R2~ @IRESE) =72 @I8fiAt)—) @I ANENETH{L] +15] 1,175 CREZE> 1-15R=20.0%(F 5 8[E]=16.0% - 100[E]=4.0%)
@ /)Y i =1/179.6(~/ D) | | | | | S TS 01100 ]
260 |REEZ. |CRIZTHATAKB4S V8 525 0l 3&3&10&14| 199 &L%/@| 50.0% | 2.786 7215| 0 [~V] <ERE>Z215R=13.0%(FEH K HY)- F4R=37.0%
HfE=HI72%| 64.1% " %4 513 577 | 1126 <> E8R=50. 0%(IHFEE0[R])
O @R =TLHTHIAR %8 | 1,027 [VAE] <HEE>3EAR=22.0%+ 15R=50.0%
@ BRIEL =72 @IRED) =50 @I4HAE)—] F 151,925 GilHr> FE8R=28.0%(IHE4E0[A])

O/ 4 R =1L




